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Unit 1 Test Review |
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Solve each equation. Remember to check for extraneous solutions.
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Simplify. Your answer should contain only positive exponents.
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Sim plify.
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Write each expression in exponential form.
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Write each expression in radical form. L
1 16) The time it takes Adam to drive to Disney
15) (2n)* =\ \ l m World varies inversely with his speed. If it

takes Adam 10.8 hours at an average
speed of 50 miles per hour, how long
would it take him to get there at an
average speed of 60 miles per hour?
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17) Ifx and y vary inversely, what happens to 18) Given the following ec.lugtion. that.
the value of x as y increases? represents a direct variation, identify the
constant of variation (k).
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Simplify.
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21) Graph the function of y = vx + 1 — 3 on the graph below. Then state the transformations
from the parent function, domain, and range.
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22) Graph the following function and state the vertical asymptote.
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23) Solve the following rational function. Be sure to check for extraneous solutions.
All work must be shown.
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24) Solve the following equation. All work must be shown.
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